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Binomial 2 Answers

(i 1+18x+ 135x°.... B1,Bl B2, 1,0 -1 for each error
(2]
(i) (1 x5+ (18 x-3)+(135x1) M1,Alft | M1 for a correct method using their (i)
=76 Al Alft on their 3 terms unsimplified
[3]
(@) (i) 1-21x+ 189x% —945x° B3,2,1,0
(i) 2 x (189)and 5 x (-945) M1
4347 AN
2 6
(b) Identifies relevant (x*)’ (;) B1
Multiplies by 84 M1
5376 Al
(@+x)(1-2nx+...)=3-41x +
bx?
term in x* = ,.C, (+ 2x)? B1 Wherever it comes.
—a=3 B1 Co — anywhere
1-2an=-41 —->n=7 M1 A1 Must use 2 terms.
Coeffof X’ is 3 x 84 — 1 x 14 M1 Must use sum of 2 products.
— 238 A1 Co.
[6]
B (8] L1228 = n(n-1)=5%8 =n=8 [orvar-n-56=(n=B)n+T] M1 A1
mp e =12 — p= =12/8==15 M1 AlY
q= gCa(=15)" = —-58=27/8 = — 188 M1 A1

Coefficientof xis  2' —=lec1 = -gg | MTA1

L

et %3
Coefficient of ¥ is  2'| —— | 6C2 = B0 | M1Ad
172/
F)
(-t (BOx"-06x) — GOk - 96 = 64 M1
— k=3 At

[l

Unsimplified with 851, o

Unsimplified with 602, o,

Must be considarmg 2 tarms,

Far his incorrect coefficents,

(8]



Binomial 2 Answers

6) [6] () (1+x) =1+5x+10x+10x° +5x" + x° B1

(iii) (1-2)° = 41-29V2

7) (i) 2°+°C2%-3x) +°C2°(-3x)°
32 — 240x + 720x°

(ii) 32a =64, a=?2
32b —240a =-192,
b=9
—240b + 720a = c
c=-720

8) @  64-96x+60x* —20x°
(i)  Multiply by 1+2x+x?
-20+120-96 =4

(i) (V2)°= 212 (V2)° = 442

B1
B1
Bl

Bl
Ml
Al
MI
Al

(1+V2)°=41+29V2 B1 B1 Bf1

(1+2)°+(1-12)° = 82 B1V BV

[5]

BI1 for 32 or 2°
B1 for —240
B1 for 720.

Bl fora=2

M1 for equation in a and b equated to £192
Al forb=9

M1 for equation in a and b equated to ¢

Al for ¢ =-720

B1+B1+B1+B1
Ml
Al



